

Universal Paper Products and Dispensing Systems



### Hillyard Green Select® Paper Products

## Universal Hillyard Green Select towel and tissue products are certified by Green Seal<sup>™</sup> and/or ECOLOGO<sup>®</sup>

Hillyard is your source for environmentally preferable quality paper products and dispensing systems. Green Select products can help your customers in achieving green status. A complete line of towel and tissue products is available including roll and folded towels as well as bath and facial tissue to satisfy any facility's needs. Hillyard Green Select is designed for consumers seeking ways to minimize their impact on the environment by choosing green products and solutions. Offering recycled towel and tissue products without sacrificing quality or performance - that's the Hillyard advantage.





Green Seal<sup>™</sup> is an independent, non-profit organization dedicated to safeguarding the environment and transforming the marketplace by promoting the manufacture, purchase, and use of environmentally responsible products and services. Green Seal<sup>™</sup> is a trademark of Green Seal, Inc. in Washington, DC. Used by permission. **www.greenseal.org** 

ECOLOGO<sup>®</sup> certified products, services and packaging are certified for reduced environmental impact. ECOLOGO certifications are voluntary, multi-attribute, lifecyclebased environmental certifications that indicate a product has undergone rigorous scientific testing, exhaustive auditing, or both to prove its compliance with stringent, thirdparty environmental performance standards.

# greenselect Preferred

### TISSUE

Green Select Preferred tissue features embossing for a high-end appearance and home-away-from-home comfort. Tissue is designed to provide exceptional plushness and softness. Green Select Preferred tissue is ideal for any establishment seeking to elevate the image of their building while also meeting green purchasing criteria. **##PAP59890** 





### **ROLL TOWELS**

Green Select Choice roll towels are made from 100% recycled fibers and environmentally certified. Towels are available in a variety of paper grades including natural and white; and meet or exceed EPA guidelines for postconsumer waste. **#PAP45700**, **#PAP45800**, **#PAP303739** 

### **FOLDED TOWELS**

Certified Hillyard Green Select Choice folded towels are available in multifold and singlefold configurations providing a variety of hand drying alternatives to hardwound rolls. Made from 100% recycled fibers and available in natural, natural white and white. **#PAP10130, #PAP10135, #PAP220120, #PAP47000** 

### TISSUE

Green Select Choice bath tissue offers quality, value and performance. Tissue is environmentally certified and 100% recycled. Single roll bath tissue is embossed for added softness; and jumbo roll tissue provides long-lasting rolls for fewer change outs. **#PAP303769**, **#PAP303759** 

### **SPECIALTY PRODUCTS**

Diamond quilt embossed Green Select Choice household paper toweling provides the softness and absorbency of household toweling and has the wet strength needed for use in business and industry. **#PAP303729** 

Green Select Choice certified facial tissue offers the softness and absorbency of household tissue with attractive packaging. **#PAP303779** 

### Hillyard Universal Dispensers

### UNIVERSAL ROLL TOWEL DISPENSER

The universal roll towel dispenser accommodates most universal roll towels and provides at a glance maintenance. The push dispensing mechanism makes the dispenser easy to operate. **#PAP306489** 

### FOLDED TOWEL DISPENSER

The folded towel dispenser accommodates multifold and C-fold towels. It's a high-capacity system, which helps to reduce required maintenance and reduces the number of service interruptions. The translucent styling allows service staff to see *at a glance* when it is time to refill. **#PAP306589** 

### JUMBO TISSUE DISPENSER

The jumbo tissue dispenser holds one roll of 9" toilet tissue. This dispenser fits where larger dispensers can't, but is still ideal for heavy traffic washroom usage. **#PAP306389** *Available only while supplies last* 











**Roll Towels** 

			Dispenser	Roll Width	Linear Feet per	Rolls	Feet	Cases	Cases per Even	Average
No.	Description	Color	Number	(Sheet Size)	Roll	per Case	per Case	per Unit	Layer	Case Cube
PAP45800	Green Select <sup>®</sup> Choice	Natural	PAP306489	7%"	800	6	4,800	60	5	1.85
PAP45700	Green Select <sup>®</sup> Choice	White	PAP306489	71/8″	800	6	4,800	60	5	1.85
PAP303739	Green Select <sup>®</sup> Choice	Natural	PAP306489	71/8″	350	12	4,200	54	9	1.89

### **Folded Towels**

No.	Description		Color	Dispenser Number	Sheet Size (W" x L")	Towels per Package	Packages per Case	Towels per Case	Cases per Unit	Cases per Even Layer	Average Case Cube
	Singlefold Towels										
PAP47000	Green Select® Choice		Natural	PAP306589	91 x 101/4	250	16	4,000	70	7	1.77
	Multifold Towels										
PAP10130	Green Select® Choice	and the state of t	Natural White	PAP306589	9½ x 9½	250	16	4,000	70	7	1.59
PAP10135	Green Select® Choice		Natural	PAP306589	9½ x 9½	250	16	4,000	70	7	1.59
PAP220120	Green Select® Choice		White	PAP306589	91% x 91/2	250	16	4,000	70	7	1.59

#### **Universal Bath Tissue**

No.	Description		Ply	Dispenser Number	Sheet Size (W" x L")	Sheets per Roll	Rolls per Case	Sheets (Ft.) per Case	Cases per Unit	Cases per Even Layer	Average Case Cube
PAP303769	Green Select <sup>®</sup> Choice		Double	—	4 x 3¾	500	96	48,000	30	5	4.27
PAP303759	Green Select <sup>®</sup> Choice Jumbo Roll	(1000) (1000)	Double	PAP306389*	3.48 x 1000'	_	12	(12,000)	65	5	2.23
PAP59890	Green Select® Preferred		Double	_	4 x 3¾	500	80	40,000	30	6	3.68
*DAD206200 Luna	ha Ball (0") Tissua Dispansar is quailable anhuu										

\*PAP306389 Jumbo Roll (9″) Tissue Dispenser is available only while supplies last

### Specialty Products

No.	Description	Ply	Sheet Size (W" x L")	Sheets per Roll (Pkg.)	Rolls (Pkgs.) per Case	Sheets per Case	Cases per Unit	Cases per Even Layer	Average Case Cube
PAP303779	Green Select® Choice Facial Tissue	Double	7% x 8¼	(100)	(30)	3,000	81	9	1.59
PAP303729	Green Select® Choice Household Roll Towels	Double	11 x 9	84	30	2,520	28	7	3.72

### **Universal Dispensers**

No.	Description	Color	Dispenser Size (W" x H" x D")	Dispenser Weight	Case Size (W" x H" x D")	Cases per Unit	Average Case Cube
PAP306389*	Jumbo Roll (9") Tissue Dispenser	Black Translucent	10 <sup>5</sup> % x 12 x 5 <sup>3</sup> ⁄4	1.75 lbs.	6¼ x 12½ x 11½	156	0.48
PAP306489	Roll Towel Dispenser	Black Translucent	10½ x 15¾ x 8¾	6.0 lbs.	10% x 10¾ x 18	81	1.17
PAP306589	Folded Towel Dispenser	Black Translucent	11¾ x 18 x 6¼	2.62 lbs.	6¾ x 17% x 11¾	120	0.75

\*PAP306389 Jumbo Roll (9") Tissue Dispenser is available only while supplies last



These products meet Green Seal<sup>™</sup> Standard GS-1 based on chlorine-free processing, energy and water efficiency, and content of 100% recovered material with a minimum of 50% post-consumer material for towels and 25% post-consumer material for tissue. GreenSeal.org.



ECOLOGO<sup>\*</sup>: PRODUCT CERTIFIED FOR REDUCED ENVIRONMENTAL IMPACT. VIEW SPECIFIC ATTRIBUTES EVALUATED: UL.COM/EL UL-175



PO Box 909 St. Joseph, MO 64502 www.hillyard.com